



॥ सा विद्या या विमुक्तये ॥

स्वामी रामानन्द तीर्थ मराठवाडा विद्यापीठ, नांदेड

‘ज्ञानतीर्थ’, विष्णुपुरी, नांदेड - ४३१ ६०६ (महाराष्ट्र राज्य) भारत

SWAMI RAMANAND TEERTH MARATHWADA UNIVERSITY, NANDED

‘Dnyanteerth’, Vishnupuri, Nanded - 431 606 (Maharashtra State) INDIA

Established on 17th September, 1994. Recognized By the UGC U/s 2(f) and 12(B). NAAC Re-accredited with 'B++' grade

Fax : (02462) 215572

ESTATE SECTION

website: srtmun.ac.in

Phone: (02462) 215246

Email: estate@srtmun.ac.in

Ref: Estate/C.Q.No.119 -2025/ CEMENT_OTTA/2025-26/ 514

Date : 17/02/2026

Quotation No.119 -2025 for MBA TREE CONCRETE OTTA BANDHAKAM(Fourth Time)

Our University is interested to MBA TREE CONCRETE OTTA BANDHAKAM for ENGINEERING Dept. SRTMUN. You are requested to send your most competitive rate in Appendix-A subject to below mentioned Objectives, Terms & Conditions in two bid system. (Envelope 'A' and Envelope 'B') The Quotation in sealed envelope should be submit on or before 26/02/2026 up to 3.00 in Central Quotation/Tender Department (Finance and Accounts Section).

Quotations received in earlier process will also be consider for this time, If their quoted rates are not changed. Otherwise they can again submit this time also.

Terms & Conditions:

- 1) Rate Quoted should be F.O.R. at Store Section. (Name of Dept.)
- 2) The Rate quote in given format. (Appendix 'A')
- 3) Payment will be made after satisfactory delivery & installation as per Purchase order.
- 4) The Validity period for the rates will be 180 days from the date of opening of the quotations.
- 5) The University reserves the right to accept any quotation or reject any / all quotations and to order any of the items in any quantity without assigning any reason.
- 6) Supplier should submit their quotation as per nature of work mentioned in Shop Act unless quotation will not be considered.

A) Technical envelope (No.1) contains following documents

- 1) Index
- 2) Latest shop Acts Acts/Company Acts,
- 3) GST No Certificate along with Current GST return copy,
- 4) PAN Card
- 5) Aadhar Card (PAN card link with Aadhar Card will be must)
- 6) Authorization letter from principle company/manufacturer/ Distributor. (If Applicable)

B) financial envelope contains only price in Appendix- 'A'

- 1) Delivery period within 15 days from purchase order.

Sd/-

Finance & Accounts Officer

Index (Attach with document in Involape No.01)

Sr.No	Particular	Number	Page No.
01	Shop Act/PWD Reg.		
02	GST Registration		
03	GST Return Copy		
04	PAN Card		
05	Aadhar Card		
06	Other If Any		

Bidder Signature and Stamp

Copy to:

- 1) Senior Programmer, SRTM University, Nanded, Please Publish the said quotation on our university website.
- 2) Notice Board, Administrative Building/Estate Deptt., SRTM University, Nanded.



स्वामी रामानंद तीर्थ मराठवाडा विद्यापीठ, नांदेड

‘ज्ञानतीर्थ’, विष्णुपुरी, नांदेड – ४३१ ६०६ (महाराष्ट्र राज्य) भारत

SWAMI RAMANAND TEERTH MARATHWADA UNIVERSITY, NANDED

‘Dnyanteerth’, Vishnupuri, Nanded - 431 606 (Maharashtra State) INDIA

Established on 17th September, 1994, Recognized By the UGC U/s 2(f) and 12(B), NAAC Re-accredited with 'B++' grade

Fax : (02462) 215572

Phone: (02462) 215246

Engineering Section (Civil)

website: srtmun.ac.in

mail:ee@srtmun.ac.in

जा. क्र. काअका/ २०२५—२६/ २७३

दिनांक : ०३/११/२०२५

निविदा/दरपत्रक सूचना

कुलसचिव, स्वामी रामानंद तीर्थ मराठवाडा विद्यापीठ, नांदेड हे खालील कामाचे सिलंबंद निविदा/दरपत्रके मागवित आहेत.

अ. क्र.	कामाचे नांव	कामाची अंदाजित किंमत	इसारा रक्कम	को—या निविदेची किंमत
०१	वाणिज्य व व्यवस्थापनशास्त्र संकुलासमोरील दोन झाडांच्या बुंध्याभोवती सिमेंट ओटयाचे बांधकाम करणे.	रु. ९१,४२२/-	रु. ९००/-	रु. २३६/-

को—या निविदा/दरपत्रक मा. वित्त व लेखाधिकारी, मध्यवर्ती निविदा विभाग, स्वा.स.ती.म.विद्यापीठ, नांदेड यांचे कार्यालयात दि. १२/११/२०२५ ते १९/११/२०२५ रोजी दुपारी १२.०० वाजेपर्यंत मुल्य भरून उपलब्ध होतील. निविदा/दरपत्रकधारकांनी आपले दर हे विहित प्रपत्र ब/दरपत्रका मध्ये भरून सिलंबंद लिफाफ्यात उपरोक्त कालावधीत दुपारी ३.०० वाजेपर्यंत किंवा त्यापूर्वी मा. वित्त व लेखाधिकारी यांचे कक्षेतील बंद निविदा/दरपत्रक पेटीत जमा करावेत. सदर तासखेनंतर आलेले निविदा/दरपत्रक विचारात घेतली जाणार नाहीत.

कोणतेही निविदा/दरपत्रक स्विकारण्याचा / नाकारण्याचा अधिकार विद्यापीठाने राखून ठेवला असून, तो अंतिम राहील.

Sd/-
कार्यकारी अभियंता

टिप :

- १) वित्तीय व तांत्रीक लिफाफा हा स्वतंत्ररित्या द्यावा.
- २) सदर कामाचे होणारे देयकापोटी १८ टक्के जीएसटी देय राहील.

SWAMI RAMANAND TEERTH MARATHWADA UNIVERSITY, NANDED.

ENGINEERING DEPARTMENT

SCHEDULE “B”

Name of work : वाणिज्य व व्यवस्थापनशास्त्र संकुलासमोरील दोन झाडांच्या बुंध्याभोवती सिमेंट ओटयाचे बांधकाम करणे.

(SSR- 2023-24)

Sr.No.	Particulars	Unit	Qty.	Rate	Amount
1	Excavation for foundation in earth, soil of all types, sand, gravel and soft murum, including removing the excavated material up to a distance of 50 m. beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift upto 0.00 to 1.50 m.) By Manual Means (Sr.No.21.01)	Cum.	2.59	239/-	619.00
2	Providing and laying Cast in situ/Ready Mix cement concrete in M-10 of trap/ granite/ quartzite/ gneiss metal for foundation and bedding including bailing out water, Steel centering, formwork, laying/pumping, compacting, roughening them if special finish is to be provided, finishing if required and curing complete, with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Crushed sand VSI Grade) (Sr.No. 24.01)	Cum.	0.28	5830/-	1632.00
3	Providing and laying in situ /Ready Mix cement concrete M-20 of trap / granite /quartzite/ gneiss metal for R.C.C. work in foundations like raft, strip foundations, grillage and footings of R.C.C. columns and steel stanchions etc. including bailing out water, Steel centering formwork, laying/pumping cover blocks, compaction and curing roughening the surface if special finish is to be provided (Excluding reinforcement and structural steel) etc. complete, with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Crushed sand VSI Grade) (Sr.No.25.11)	Cum.	0.72	7104/-	5115.00
4	Providing and laying Cast in situ/Ready Mix cement concrete M-20 of trap / granite /quartzite/ gneiss metal for R.C.C. columns as per detailed designs and drawing or as directed including steel centering,	Cum.	0.50	13783/-	6891.50

	formwork, cover blocks, laying/pumping, compaction finishing the formed surfaces with cement mortar 1:3 of sufficient minimum thickness to give a smooth and even surface or roughening if special finish is to be provided and curing etc. complete.(Excluding reinforcement and structural steel).with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Crushed sand VSI grade) (Sr.No.25.31)				
5	Providing and laying Cast in situ/Ready Mix cement concrete M-20 of trap / granite /quartzite/ gneiss metal for R.C.C. beams and lintels as per detailed designs and drawings or as directed including steel centering, formwork, cover blocks, laying/pumping, compactionand roughening the surface if special finish is to be provided and curing etc. complete. (Excluding reinforcement and structural steel). with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Crushed sand VSI Grade) (Sr.No.25.50)	Cum.	2.09	12269/-	25642.00
6	Providing and laying Cast in situ/Ready Mix cement concrete M-20 of trap/ granite / quartzite/ gneiss metal for R.C.C. slabs and landings as per detailed designs and drawings including steel centering, formwork, cover blocks, laying/pumping, compaction finishing the formed surfaces with cement mortar 1:3 of sufficient minimum thickness to give a smooth and even surface or roughening if special finish is to be provided and curing etc. complete,(Excluding reinforcement and structural steel).with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Crushed sand VSI Grade) (Sr.No.25.70)	Cum.	1.09	13943/-	15198.00
7	Providing sand faced plaster externally in cement mortar using approved screened sand, in all positions including base coat of 15 mm thick in cement mortar 1:4 using waterproofing compound at 1Kilogramper cement bag curing the same for not less than 2 days and keeping the surface of the base coat rough to receive the sand faced treatment 6 to 8 mm thick in cement mortar 1:4 finishing the surface by taking out grains and curing for fourteen days scaffolding etc. complete. (Sr.No.35.11)	Sqm.	46.81	639/-	29912.00
8	Providing fine cement finish 1.5 mm thick over green plaster surface including scaffolding curing etc. complete. (Sr.No.35.21)	Sqm.	46.81	36/-	1685.00

9	Providing rough cast cement plaster externally in two coats to concrete, brick or stone masonry surfaces in all positions with base coat of 12 to 15 mm thick in C.M. 1:4 and rough cast treatment 12mm thick in proportion 1:1 1/2:3 including scaffolding and fourteen days curing complete. (Sr.No.35.12)	Sqm.	46.81	101/-	4728.00
	Total				91422.00

I do hereby tender to execute the above mention description of work in accordance with condition noted below in consideration of payment being made for the quantity of work executed at percent.....% below/above, the amount worked out at the rates entered in memorandum of rates schedule 'B' hereto

Sd/-
Executive Engineer

Contractor
Name:
Address:.....
.....